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BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 37915 87,221 41,663 45558
RIRET1T 4 12 6 6
RIRET2T 24 53 25 28
RIRET3T 155 490 245 245
RIRET4T 387 996 486 510
B 570 1,551 762 789
REH 2,643 6,267 2,935 3,332
L&A 4,182 9,605 4,551 5,054
5E 2,488 6,009 2,908 3,101
B AN 1,237 2,841 1,335 1,506
BERT 1,109 1,787 848 939
BER2T 719 1,401 665 736
BHERST 391 903 451 452
g 2,219 4,091 1,964 2,127
BARE 251 649 325 324
[N 2,184 5,314 2,504 2,810
hERE 612 1,452 664 788
e 2,361 5,252 2,538 2,714
25 L ET 2,251 5,265 2519 2,746
B &AL BT 67 151 59 92
HEFILET1T 580 1,275 600 675
HEFILET2T 595 1,360 636 724
HEZFILAT3T 575 1,357 663 694
g 1,817 4,143 1,958 2,185
B & it B Fr ET 683 1,677 816 861
BHEREBET1T 600 1,252 598 654
BHERERET2T 751 1,788 873 915
BHERERETST 767 1,667 752 915
HEFMHET4T 451 1,002 489 513
HEHFMHETST 791 1,655 794 861
HEHFHET6T 863 2,021 971 1,050
HEFRET7T 848 1,976 960 1,016
HERERETST 57 175 83 92
£t| 5128 11536 5,520 6,016
HEF R FET 1,781 3,910 1,908 2,002
S|EFET1T 569 1,542 767 775
S|EFET2T 756 1,818 865 953
S|EFET3 T 724 1,467 696 771
g 2,049 4827 2,328 2,499
ERE1T 557 1,366 662 704
EIRET2T 370 948 470 478
EREIST 467 1,334 647 687
EIRETAT 680 1,557 717 840
EIZEIST 470 971 492 479
g 2,544 6,176 2,988 3,188
MEH 2,809 6,437 3,038 3,399
J\THET1T 24 27 9 18
J\THET2T 25 63 32 31
J\THEI3T 57 129 61 68
B 106 219 102 117

IR=



